

$$No01 = \begin{bmatrix} .1 = [p(x) = x^4 - 2x^3 + x^2 + 4, c = 1] \\ .2 = [p(x) = x^4 + 3x^3 + x^2 - 2, c = -3] \\ .3 = \left[p(x) = 6x - 17 + 9x^4 - 15x^3, c = \frac{5}{3} \right] \\ .4 = \left[p(x) = 6x + 16 + 6x^4 + 23x^3 + 20x^2, c = \frac{-5}{2} \right] \end{bmatrix}$$

$$No02 = \begin{bmatrix} .1 = [b(x) = x - 2, a(x) = x^4 + x^3 + m - 4x] \\ .2 = [b(x) = x + 1, a(x) = x^4 + mx - x^2 - 5] \\ .3 = [b(x) = x - m, a(x) = x^2 - 9x + 12, r = -6] \\ .4 = [b(x) = 3x + 4, a(x) = -5x^2 - 15x + mx^3, r = 4] \end{bmatrix}$$

$$No03 = \begin{bmatrix} .1 = [p(x) = x^3 - x^2 - 25x + 25] \\ .2 = [p(x) = x^4 - 29x^2 + 100] \\ .3 = [p(x) = x^3 - 125] \\ .4 = [p(x) = x^4 - 625] \\ .5 = [p(x) = x^4 + 8x^3 + 17x^2 - 2x - 24] \\ .6 = [p(x) = x^4 + 2x^3 + x + 2] \\ .7 = [p(x) = 6x^3 - 25x^2 + 21x + 10] \\ .8 = [p(x) = 10x^4 - 27x^3 - 60x^2 + 163x - 30] \end{bmatrix}$$